)

Backers Electrical Utilities Plumloing Utilities
Description Lenﬁﬂw Mark Description Mark Description aty
2x0 Backer 5 - 819/32" El |GF Grade outlet & H |Hot Water Supply I
2xG Backer 5 - 819/32" Face Plate C |Cod Water Supply I
-5 5/32" D |Sonitary DWV I
7
<,

H ) Hot Water su

|1

ﬁ

—

=

C}uﬁliﬁes Location

GFl Grade Outlet & Facd
Plate

Water Supply

nitary DWV

. REMOVE ALL DRAWERS & HARDWARE PACKS
2. USE ANCHOR BOLTS TO INSTALL BASE CABINETS

@}uﬁliﬂes Access

Rear Conhsole Base

@ﬁrall Base Cabinets

. REMOVE DOORS & BOLT UPPER CABINETS TO
MID SECTION WITH 1/4-20 SHORT BOLTS AND

ATTACH TO WALL WITH #2 3' SCREWS

;uPPer Dispense Cabinet

@ GFl Grade outlet & Foce |

Plate

PI

I SECURE SINK TO COUNTERTOP WITH ADHESIVE
CAULK AND siNK CLIPS

2. SECURE COUNTERTOP & BACKSPLASH TO BASE
CABINETS WITH ADHESIVE CAULK

Work surface w/

@9{'0“ Coun+erToP

I RE-INSTALL DOORS, DRAWERS AND REMAINNG
HARDWARE & CONNECT UTILITES

—

0 0]

%Adhesive Aseemloly

SoaP Dispen;er

Faucet

Packinﬂ List

Mark

De;cripﬁon

&+y

#2 3" Wood Screws

I/4"-20 Long Bolts

I/4"-20 Short Bolts

SRS EEN

[ 239/16" (599 mm) [

I2v Power SuPPly

Anchor Bolts

Sink

Strainer

Tube of Caulk

Rear Conhsole Base

Work. surface w/ sink

75 3/4" (1924 mm)

o

[ 22 1/8" (563 mm)

Foucet

#
TMOw

Rear Mid Cabinet

0

Door/Drawer Pull

Soap Digpenf;er

c

24" (610 mm)

Upper Dispense Cabinet

e

L G}Fhal Installation View

BOLTS

I BOLT MID SECTION TO BASE WITH I/4-20 LONG

@91’0“ Mid Section

Rear Mid Cabinet

Installation Drawing

Prepared for: NOVA Solutions Inc.

ontho i,
Project | REAR TREATMENT CENTER
NOVA Solutions Inc.
217-342-7070 ltem #| ALRTC B21-H11-U21

1-1

sales@novasolutionsinc.com

Drawn by: Justin Martin

09/21/24

Rev: | {/@

118/2024 45Gi4 PM



